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QUESTION 1

Which system tables contain information regarding segments? (Choose 3) 

A. sysdevices 

B. sysindexes 

C. sysobjects 

D. sysdatabases 

E. sysusages 

F. syspartitions 

Correct Answer: BEF 

 

QUESTION 2

Which commands can be used to specify the number of histogram steps in systatistics? (Choose 2) 

A. create index 

B. optdiag 

C. update statistics 

D. reorg 

E. sp_modifystats 

Correct Answer: AC 

 

QUESTION 3

Which of the following is FALSE? 

A. Groups are database-specifiC. 

B. A user can only be a member of one user-defined group. 

C. Groups cannot contain other groups. 

D. Groups must beenableD. 

Correct Answer: D 

 

QUESTION 4
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Which step listed below is NOT performed to enable a licensable feature in ASE 15.0? 

A. shut down ASE 

B. run the license management utility 

C. execsp_configure to turn on new feature 

D. execsp_configure to register license certificate 

Correct Answer: D 

 

QUESTION 5

Which of the following is the default partitioning strategy? 

A. hash 

B. list 

C. range 

D. roundrobin 

Correct Answer: D 
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